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THE UNITED REPUBLIC OF TANZANIA
NATIONAL EXAMINATIONS COUNCIL
CERTIFICATE OF SECONDARY EDUCATION EXAMINATION

074 CARPENTRY AND JOINERY
(For Both School and Private Candidates)

TIME: 3 Hours Friday afternoon 26/10/2007

Instructions

I his paper conststs o3 seolions A. B and C

¢ w1 questions in sections A'and B, and two (2) questions from
:
doulators are not allowed in the examination room
Nutur nhoses are not aliowed in the examination rOON
Write vour Fxamination Number on every page of your answes
booklets)
S48 [his paper consists of 6 printed pages,




SECTION A (20 marks)

Answer all questions in this section,

For each of the item (i) -{x) choose the correct answer from among the given
alternatives and write its letter beside the itém number,

{1 I'he cut formed by a saw is called
A filiet B kerf C architrave D river E comice

(1} Casein glug is manufactured from

A animal hoofs

B Pl:‘.-m pl':j:\i'.,;(:!_\'

C artificial manufactured products
D cow skimmed milk
|

combination of animal hoots and plant producss

(5ii) An instrument used 10 measure moisture content in Kiln plants 1s called
barametes
B photomete:
( electric moisture meter
| SPCEO MERST
| paliomete
(v AN arciairave |
A fixed between walls and ceilings
B fixed at the foot of the wall
fxed o cover the joint between door frames, window casimgs and

plaster around them
[ fixed between muntin and panels
F  fixed between finishing floor level and wal
V) Ihe suitable hinge for hanging mateh boarded doors is
he butt k
}  the back Nap hinge
| the tee hinge
() the strap hinge
! the ruised hinge.
(Vi) l'exture, figure and grain signity
e :|"['-.'.|:.x'..u.' O 4 cul surtace ol timber structure
B the arrangement of the grain
i sawn Limber
[ finger tests of @ cut timber

! nge ol trees




(vit)

24110

-

A bay window with 45° or 60° return angle is the
A square bay

B patent bay

C  arched bay

D cant bay

£ elliptical bay.

Why must the trimming timbers of o floor be sound, straight-grained and
frec from laree kKnots?

A To maimain its appearance and atiraction,

B I'o maintain its strength since it is load bearing 1im bers.

{ To maintain its non-foad beanng

D Because they are usunlly soft woods.

R .

jecause ire produced from very long picces of timber

1ICY Al

or jomis of a picnre frame use

p
-

window lighting for a flat roof




letter of the corvect response beside the item number.

List A

() Scarf joint, dovetail joint and tongued and
£roaved joml
(11) An operation

(m) A

OWerning o centre

door for sheds

Decorative mould sreund doors and windows to

emphasize and decorite opening

(v)  Longitudinel curvature flat wise from end to end
of a picce of timbet

Vi) Ithas s lapered side 10 set up a strong bursting

12AInSE reSIStundy

10 one of the factors used i caleuistng
the percentzee of moisture content of timber
with needie like
are produced naked

!'.'J‘v &5 whose seeds

(ix) 11185 used for peepanng edge 10 edge joints for
gluing

\ achine fo itting logs into eeasonable
i ‘.‘r\.

SECTION B (40 marks)

Answer all guestions in this secuion

:
1 MAarking gauges

vame four (4) type

- List four (4) wood bori

S 1) Wr

(b) Briefly expluin the following

carpentry &nd joinery

ARNY 4

te down the formula for calculating the pitch

L
i

N : N CAArERst B 5 948 5 - $o» g
2. Match the correct responses in List B with the given items in List A Dy writing &

List B
Easing
Mahoguny
Classes of joints used in

woodWworks
Bridle joint

A reciprocating <ro

35 <ul

v
SaYhy

fanct door

')l'p k\'_'.;.l

Skiting

Mateh boarded door < .
wisting

Tryving plane

Honey

Architrave

LOmo

Harometer
Coniters

Jack plane

and rise of a8 roo!
{

l‘LI.ZYAlln)I\'ﬁu". as used in ”I'.' | L'l.lf Ol




ons

Analyse four (4) areas 1o be observed when considering safety precaut

(i) State three (3) important reasons for timbering {0 reaches
(b) Give the name of o bottom part of formwork.

Dérive the formula for calculating the molsture coatent 0f timber and then
determine the dry weight of a sampio if the wet weight was found to be 40

gramemes and moisture content is 30 %G,

Define the following tenns:

(b Vamish
Diffecentiate a stalr from stiirease
L.ist four (4) warping forms of timbes
(b) Differentiate straining beam from tig beam
Name two (2) tvpes of timber parsitions

b Mention two (2) methods used in timber CONVErsion

SECTION C (40 marks)

apswer two (2) guestions [rom this seciton

Describe the saying “safety first”, as apphicd to carpealry wn

(1 | st six (6) workshop satety habits.
(111) Analvse two (2) classes of safety on handtools.
(Iv) Mention three (3) possible sources ol accidents Whn using

machines and portable power tools

(h) Rriefly explain the following

*tXra b« :
1) Pieh ol aroo




4 (a)

Define the term “floor™.

3y vy ‘o
{0) Classify timber floors
. ) Expl he term “ R el ) e T Ak e
v PN Lhe term “strutting™ as used (n timber floor construction
' A . s s 3 .
d Sketch s timber floor pattern and illustrate the following
-~
\1) Floor bonrds
(i) Floor joists
’ (i) Girdet
I v) Hinder
.‘ v Loncre D
d
’ | el orm nao
:
! Sketeh o window frame and [abel the following parts
:
"
I
;
!
: ! i
l
| (1 -
) |

(¢ numerate three (3) methods used in hanging window shutters.

) Distinguish bebween dormer window from bay window

548 6






